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General Instructions:

1. There are 29 questions in the question paper. All questions are compulsory.

2.Question no. 1 to 14 are Objective Type Questions of 1 mark each.
3.Question no. 15 to 19 are very short answer type questions, carrying 2 marks each.
4. Question no. 20 to 22 are short answer type questions, carrying 3 marks each.

5. Question no. 23 to 25 are long answer type questions, carrying 4 marks each.
6. Question no. 26 to 28 are source based questions, carrying 4 marks each.
7. Question no. 29 is Map based question, carrying 3 marks.

WS-31/ SECTION-A.

Multiple choice questions

Questions
1 Rani Channamma lead an anti-British movement in: 1
(a) Jhansi (b) Mysore
(c) Kitoor (d) Nagpur
T T A g8 WR 3 ARl siiglerd &1 A foar:
(@ i A (@ AR H
& fory & ) TR A
2 Bahadur Shah Zafar died in the Rangoon jail in the year: 1
(a) 1857 (b) 1858
(c) 1860 (d) 1862
SEIGR X8 STHR = W ol # 39 ay 3ifcH Iig o:
(Q) 1857 (sfh) 1858
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Which institution was started by Rabindranath Tagore in 1901?

(a) Shantiniketan (b) Theosophical Society
(c) PrarthanaSamaj (d) AryaSamaj
1901 ¥ T 1Y IR 7 B Y TR RE BT A2
(@ =ifafida (& RarEithere A
GEIEIEEIE] (d) 3T Gl
Who wrote the book “Gulamgiri”?
A) Shri Narayan Guru B) Jyotirao Phule
C) Mahatma Gandhi D) Haridas Thakur
AR & fha fergt?
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Golden fibre refers to:
(a) Tea (b) Cotton
(c) Jute (d) None of the above
R YR AU ©:
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Which of the following is a secondary activity?
A) Agriculture B) Mining
C) sugar production D) Cattle rearing
T O DI fgcfias &= &t fafafd g2
Al CURCRE!
BERIRSCIES] 31 gguTe

refers to separation of religion from state.

(a) Democracy (b) Socialism
(c) Secularism (d) None of the above
_ ot Y I F ST TG P AR BT BT SIIell 3|
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Constitution of this country intervened in Hindu religious practices in order to abolish
untouchability.
(a) Nepal (b) Bangladesh
(c) Pakistan (d) India
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There are over different Adivasi groups in India. 1

(a) 500 (b) 400
(¢)300 (d) 200
YRAH AT aRE & offearht I9g B
(@) 500 (sfh) 400
(& 300 @ 200

Which Article of the Indian constitution recognises the right to water as being a part 1
of the Right to life?

(a) Article 20 (b) Article 21

(c) Article 22 (d) Article 23

YR Afau™ & ford srfwse & Sfavid Uil & SIRIBR &I Sifad & HTABR FT

fe=an w2
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@ 3rT=e 22 @ 3 TRe 23

The Indian constitution guarantees the right to Education for all children between the 1
age of years.

(a) 4-17 (b) 5-18

(c) 6-14 (d) All of them

YR Ifae™ 9o &1 oy & 9l a3 &1 e & SR &1 TR <aT 5|
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Who generally should be given the responsibility of public facilities? 1
(a) Government (b) Private institutions

(c) Both (d) None of these

AR TR YA HeaT HH Bt gt fard &t ot =nfgw?
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These are water related diseases: 1
(a) Diarrhoea (b) Dysentery

(c) Cholera (d) All the Above
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Which are the three main factors that cause population change? 1
a) Births, deaths and marriage (b) Births, deaths and migration

(c) Births, deaths and life expectancy (d) All the Above
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WsS-d / SECTION - B

Very Short Answer type Questions
What was ‘Doctrine of Lapse’?
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Taeg ifa o 4
Who was William Jones ?

faferm s = &2

What is organic farming?

Sfde Py T 82

Why are people considered a resource?
T b1 Ueh HATY Rl T STl 87

Give two reasons why Adivasis are becoming increasingly marginalised.

fearE TR BIRRA R il Raded o 3 87 &l HRUI 9d13U |

WS- / SECTION-C

Short Answer type Questions
Explain the system of “subsidiary alliance”.

ST} TATdT" (T i) TTRIT BT RS B |

Describe the Fundamental Rights granted by the Indian constitution for the
protection of the Dalits.

;@I@ﬁﬂ?&ﬂ%%ﬂﬂﬂ?ﬂnﬁﬁmﬁﬁnwﬁms@mmw
|

What is shifting cultivation? what are its disadvantages?

QIR B 122 39 SN B o1 g1 &2

WS-¢ / SECTION-D

Long Answer Type Questions
Why did Gandhiji choose to break the salt law ?

et Sft = THE BT dre BT By i for ?

Do you think the victims of the Bhopal gas tragedy got justice? Give reasons for
your answer.

T YS! T ¢ fob WaTe T FrRrct & Rt o =g fBran? e S| &
HRUT IATC |

Why Ahmedabad is often referied to as the "Manchester of India’?
3EHGIETG P! UIT: ‘YR T HTeRex’ Fi gl offdl g ?

WS-9 / SECTION - E

Source Based Questions
Read the passage given below and answer the questions that follows:
Ambedkar was born into a Mahar family. As a child he experienced what caste

prejudice ment in everyday life. In school he was forced to sit outside the classroom

on the ground, and was not allowed to drink water from taps that upper-caste

children used. After finishing school, he got a fellowship to go to the US for higher

studies. On his return to India in 1919, he wrote extensively about “upper”-caste
power in contemporary society. In 1927, Ambedkar started a temple entry
movement, in which his Mahar caste followers participated. Brahman priests were

outraged when the Dalits used water from the temple tank. Ambedkar lead three such

movements for temple entry between 1927 and 1935.
4
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a) What did Ambedkar Ji experience in his early life?
b) Where did Ambedkar ji go for his higher studies?
c) Write the work done by Ambedkar ji after coming to India in 1919 ?
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Read the passage given below and answer the questions that follows:
The Indian state is secular and works in various ways to prevent religious
domination. The Indian constitution guarantees Fundamental Rights that are based 1+1+2
on these secular principles. However, this is not to say that there is no violation of
these rights in Indian society. Indeed, it is precisely because such violations happen
frequently that we need a constitutional mechanism to prevent them from happening.

a) Write the name of a secular country.

b) What is the source of Fundamental Rights of Indian citizens?

c) Has the violation of Fundamental Rights ended in Indian society? And what

is the effect of this violations?
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Read the passage given below and answer the questions that follows: 1+1+2
How crowded a country is , has little to do with its level of economic development.
For example, both Bangladesh and Japan are very densely populated but Japan is far
more economically developed than Bangladesh. To understand the role of people as
resource, we need to know more about their qualities. People vary greatly in their
age, sex, literacy level, health conditions, occupation and income level. It is essential
to understand these characteristics of the people. Population composition refers to
the structure of the population.

A) Name two densely populated countries.

B) Which country is economically more developed?

C) Name some characteristics of the people that are essential to understand.

= foE 7T Terw 3 ue 3R ISP 918 M AT UM b IR ¢

fordlt G Bt ST fob et T offeieh Bl ST I - & 3M1feh fdepr o TR &
FB AR T8l USdl| IaTe0N & foIE Fiarer iR SITu Sfd o9 a9 <R § | afee
ST Sieed § e w0 3iftes R 3w 81 T gared & w0 § |l
DI YfHHT & THSH & T g 3% o1 & IR T S B Saaehdl gl g
TN SO 31, T, AeRaT Wi, Ty feensfl, e iR 3 & WR W
TH-gWR I T 1 |1 A ot 39 fadiwarsit & R o ST 3awa g

STTEREAT T SI-ERe] &1 TR 1 S2TdT g

& ) 3l g4 99 <= & W e
W) DI 1 W 3 T I 4fAF famRyd 87
M) AT B! $© [ARATAT3T & TH T fofg ST STaRa s ]

WS- / SECTION-F

On the Political map of India locate and label any three of the following places: 3
a). Meerut

b) Delhi

¢). Mumbai

d) Chennai

e) Ganga Valley
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